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Correct Option selected Wrong Option selected Correct Option Not Answered
 

Section - I (English)

Q.No: 1 Choose the correct option that completes the sentence logically and grammatically:
The teacher asked the students to complete _________ assignments by Monday.

our

its

their

his

Q.No: 2 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence

Artificial Intelligence (AI) refers to the development of computer systems that can perform tasks that
typically require human intelligence. These tasks include speech recognition, problem-solving, and decision-
making. AI systems use algorithms to analyze data and learn from patterns, improving their performance
over time. While AI has the potential to revolutionize various industries, ethical considerations, such as bias
in algorithms and job displacement, must be addressed.

What is Artificial Intelligence?

Human intelligence

Computer systems performing human-like tasks

Natural intelligence

Algorithmic intelligence

Q.No: 3 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence

Artificial Intelligence (AI) refers to the development of computer systems that can perform tasks that
typically require human intelligence. These tasks include speech recognition, problem-solving, and decision-
making. AI systems use algorithms to analyze data and learn from patterns, improving their performance
over time. While AI has the potential to revolutionize various industries, ethical considerations, such as bias
in algorithms and job displacement, must be addressed.

What tasks can AI systems perform?

Physical exercises

Speech recognition and decision-making

Cooking

Artistic performances

Q.No: 4 Read the following paragraph and then answer the questions given below by choosing the most appropriate
option based on what is said in the paragraph

Artificial Intelligence

Artificial Intelligence (AI) refers to the development of computer systems that can perform tasks that
typically require human intelligence. These tasks include speech recognition, problem-solving, and decision-
making. AI systems use algorithms to analyze data and learn from patterns, improving their performance
over time. While AI has the potential to revolutionize various industries, ethical considerations, such as bias
in algorithms and job displacement, must be addressed.

How do AI systems improve their performance?

By ignoring patterns

Through physical exercise

Using algorithms to analyze data and learn

By avoiding ethical considerations

Q.No: 5 Choose the word that means "to praise or express approval, especially in public":

Condemn

Reproach

Commend

Denounce

Not Answered

Q.No: 6 Choose the correct question tag from the four options given, that completes the sentence logically and
grammatically:
They wouldn't believe me, _______ ?

will they

would they

can they

did they

Not Answered

Q.No: 7 What is the Synonym for "Resilient"?

Delicate

Weak

Strong

Fragile

Not Answered

Q.No: 8 Choose the correct word for "A person who prepares and dispenses medicines".

Doctor

Pharmacist

Nurse

Physician

Q.No: 9 Choose the correct article in English grammar, that completes the sentence:
He returned after _______ hour.

a

an

the

No Article Required

Not Answered

Q.No: 10 Choose the correct part of speech for the underlined word in the sentence.
The cat swiftly climbed the tall tree.

Verb

Adjective

Noun

Adverb

Not Answered

Q.No: 11 Which sentence is in the simple past tense?

We visited the museum last week.

He plays the piano every evening.

She has been reading a book.

They were playing in the garden.

Q.No: 12 Fill in the blank with the most appropriate punctuation mark.
"May I borrow your pen?" she asked _______ "Of course!" I replied.

Comma (,)

Hyphen (-)

Question mark (?)

Exclamation mark (!)

Not Answered

Q.No: 13 Choose the option that best represents the antonym of the underlined word in the sentence.
Despite the tumultuous protests, the government remained committed to finding a peaceful resolution.

rowdy

unstable

orderly

wild

Not Answered

Q.No: 14 What does the idiom "throw in the towel" mean?

Dry oneself with a towel

Give up or surrender

Join a sports team

To throw a towel

Not Answered

Q.No: 15 Choose the correct part of speech for the underlined word in the sentence.
The monkey quickly snatched the yellow banana.

Noun

Adverb

Adjective

Verb

Q.No: 16 Choose the correct option that completes the sentence logically and grammatically:
I am not interested ________ politics.

with

in

on

by

Q.No: 17 Choose the option to correctly complete the sentence in the past perfect tense:
He _________ the door before I could knock.

is opening

had opened

will open

was opening

Not Answered

Q.No: 18 Choose the option to correctly complete the sentence in the present tense:
We _______ cricket every weekend.

plays

play

played

playing

Not Answered

Q.No: 19 Arrange the following jumbled sentence into a coherent order:

A. Love

B. I

C. And

D. Delicious

E. Food

F. Eating

G. Hot

B-A-G-C-D-F-E

B-A-F-G-C-D-E

F-G-D-C-A-B

B-A-D-E-C-F-G

Q.No: 20 Choose the sentence with correct punctuation:

The movie, was entertaining but the popcorn was too salty.

The movie was entertaining-but the popcorn was too salty.

The movie was entertaining, but the popcorn was too salty.

The movie was entertaining, but, the popcorn was too salty;

Q.No: 21 What does the term "standstill" mean?

Continue

Persist

Halt

Sustain

Not Answered

Q.No: 22 Fill in the blank with the correctly spelled word:
He was very ________ when he was young.

Mischievous

Mischivious

Mischeivous

Mischivous

Q.No: 23 Choose the correct part of speech for the underlined word in the sentence.
The news reporter reported the breaking news live from the scene.

Noun

Verb

Adjective

Adverb

Not Answered

Q.No: 24 Choose the correct plural form of "man":

men

mens

manes

mans

Q.No: 25 In the following question, a sentence has been given in Active/Passive Voice. Out of the four alternative
suggested, select the one which best expresses the same sentence in Passive/Active Voice.

Rahul will pass the message.

The message would be passing by Rahul.

The message will be passed by Rahul.

The message will pass by Rahul.

The message will passed by Rahul.

Section - II (Odia)

Q.No: 26

Q.No: 27

Q.No: 28

Not Answered

Q.No: 29

Q.No: 30

Q.No: 31

Not Answered

Q.No: 32

Q.No: 33

Q.No: 34

Q.No: 35

Not Answered

Q.No: 36

Q.No: 37

Not Answered

Q.No: 38

Q.No: 39

Q.No: 40

Q.No: 41

Q.No: 42

Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Q.No: 47

Not Answered

Q.No: 48

Q.No: 49

Q.No: 50

Section - III (Arithmetic)

Q.No: 51 A train travels 320
kilometers at the
speed of 80km/h in
how many hours?

4 Hours 4 

6 Hours 6 

3 Hours 3 

2 Hours 2 

Q.No: 52 A sum fetched a total
simple interest of
Rs.8,000 at the rate of
7% per annum in 2
years. What is the sum?
(Approximate)

Not Answered

Q.No: 53 A real estate agent
sells two sites for
Rs.4,000 each. On
one he gains 10% and
on the other he loses
30%. What is his loss
or gain percent?

10% Profit

5% Profit

5% Loss

10% Loss

Not Answered

Q.No: 54 Simplify:

8.3 8.3

12 12

9.75 9.75

8 8

Not Answered

Q.No: 55 Find Highest Common Factor (HCF) of 42
and 56.

8 8

14 14

3 3

7 7

Q.No: 56 A shopkeeper sells a
show piece at a loss of
14%. If the cost price
is Rs.900, what is the
selling price?

Q.No: 57 What is the LCM of 8, 10 and 12?

Q.No: 58 A bird flies at an average
speed of 20 meters per
second. How far will it
travel in 10 minutes?

Q.No: 59 In a class Out of 60 students,
15% are good at Sports.
What is the number of
students who are good at
Sports?

Not Answered

Q.No: 60 Simplify:

https://osssc.cbexams.com/osssccandresponsesheetapp/Challenge_item.aspx
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Q.No: 61 A sum of Rs.100,000
is lent at an annual
interest rate of 8%.
What will be the
simple interest after
2 years?

Rs. 15,500 Rs. 15,500

Rs. 16,500 Rs. 16,500

Rs. 16,000 Rs. 16,000

Rs. 15,000 Rs. 15,000

Q.No: 62 The ratio of 2 hours to 800 seconds is _____.

Q.No: 63 Zen is 5 times the age
of Tommy. If Tommy's
age is 12, what is Zen's
age?

25 years

60 years

17 years

12 years

Q.No: 64 Simplify:

Q.No: 65 What is the probability of getting 1 while rolling a
dice?

Not Answered

Q.No: 66 X and Y can do a piece
of work in 20 days and
12 days respectively. X
started the work alone
and then after 4 days
Y joined him till the
completion of the
work. How long did
the work last?

10 days

8 days

15 days

20 days

Not Answered

Q.No: 67 Simplify:

Q.No: 68 Three types of wheat
are mixed: Wheat 1
(40%), Wheat 2
(30%), and Wheat 3
(30%). The average
price per kg of Wheat
1 is Rs.30, Wheat 2 is
Rs.45 and Wheat 3 is
Rs.40. What is the
average price per kg
in the mix?

Not Answered

Q.No: 69 What percent of 150 is 80?(Approximate)

52% 52%

52.55% 52.55%

55% 55%

53.33% 53.33%

Q.No: 70 If you randomly choose a day of
the week, what is the probability
that it is a week day (Monday to
Friday)?

1 1

5/7 5/7

2/7 2/7

2/5 2/5

Q.No: 71 If the cost price of an
article is Rs.50 and the
selling price is Rs.80,
what is the profit
percentage?

Q.No: 72 The ratio of A's and B's ages is
4:3. If the difference between
their ages is 8 years, what is B's
age?

14 years 14 

32 years 32 

12 years 12 

24 years 24 

Q.No: 73 A ratio equivalent to 8:9 is __________.

Not Answered

Q.No: 74 If 8 workers can
complete a
construction project in
24 days, how many
days will it take for 12
workers to complete
the same project?

16 days

8 days

24 days

36 days

Q.No: 75 The average of 15
numbers is 25. If one
number is removed, the
average becomes 27.
What is the removed
number?

Not Answered

Section - IV (General Knowledge)

Q.No: 76
What is the SI unit of power of a lens?

Lux

Weber

Newton

Dioptre

Q.No: 77 Which of the following is
observed as the Raising Day of
the Central Industrial Security
Forces?

10 March

2 April

8 March

29 March

Not Answered

Q.No: 78 Green Revolution was most successful in
_______.

Tamil Nadu and Kerala

Punjab and Haryana

Maharashtra and Karnataka

Andhra Pradesh and Kerala

Q.No: 79 Braj is commonly viewed as a
dialect of which of the following
Indian languages?

Hindi

Sanskrit

Tamil

Kannada

Not Answered

Q.No: 80 Bharat Bill Payments System (BBPS) is
the product of:

Google

UGC UGC

RBI RBI

NPCI NPCI

Not Answered

Q.No: 81 Who was the creator of the Drain theory?

Gopal Krishna Gokhale

Surendra Nath Bannerji

Dadabhai Naoroji

Madhusudan Das

Not Answered

Q.No: 82 The various components of an ecosystem are
_____.

unrelated

interdependent

autonomous

unique

Q.No: 83 Who amongst the following was
the first human to fly into space?

Rakesh Sharma

Neil Armstrong

Yuri Gagarin

Alexei Leonov

Q.No: 84 In which year did Mahatma Gandhi return
to India from South Africa?

1912 1912

1917 1917

1915 1915

1918 1918

Not Answered

Q.No: 85 Who became the second Indian
badminton player to have won the
All-England Open Badminton
Championship?

Pullela Gopichand

Chetan Anand

Prakash Padukone

Parupalli Kashyap

Not Answered

Q.No: 86 Which one of the following is
true for ozone?

Ozone is a deadly poison.

Ozone is essential for the metabolic
activities of plants.

Ozone needs to be breathed by us in large
quantities for good health.

Ozone is made of two atoms of oxygen.

Q.No: 87 Excessive rain causes ____________.

flood

drought

scarcity

wastage

Q.No: 88 Members of Union public service
Commission are appointed by:

Supreme court judge

President

Prime minister

Vice president

Q.No: 89 Where was
the
Advantage
Healthcare
India
(AHCI)
2023
conference
held?

Bangalore

Chennai

Mumbai

New Delhi

Not Answered

Q.No: 90 The "Sorrow of Bihar" is the name associated with
which river?

Ganges

Yamuna

Kosi

Brahmaputra

Q.No: 91 Who was the first Oscar Winner from India?

A R Rahman

Satyajit Ray

Bhanu Athaiya

Gulzar

Q.No: 92 The mass per unit volume
of a substance is the
_________of a substance.

weight

density

resistance

solubility

Q.No: 93 Which of the following is NOT a Cryptocurrency?

Ethereum

Tether

Bitcoin

Ariary

Q.No: 94 When did 'The Times of India'
published its first edition?

Q.No: 95 How many Official
languages are used in
the United Nations for
official communication?

Not Answered

Q.No: 96 The Major Port
Authorities Bill, 2020
replaces which earlier
Bill?

Major Port Trusts Act, 1963

Major Ports Act, 1987

Port Trust of India Act 1957

Major Ports and Harbors Bill 1857

Not Answered

Q.No: 97 The famous war of Kalinga was fought in the
year?

Q.No: 98 The Fundamental duties are
enshrined in which part of the
Indian Constitution?

Part VI-A of the Constitution

Part IV-B of the Constitution

Part VI-C of the Constitution

Part IV-A of the Constitution

Not Answered

Q.No: 99 Tripitaka is the sacred book related to which
religion?

Jainism

Buddhism

Judaism

Zoroastrianism

Q.No: 100 What is the full form of 'ICMR'?

Indian Control of Medical Research

Indian College of Medical Research

Indian Council of Medical Resources

Indian Council of Medical Research

Section - V (Computer Knowledge)

Q.No: 101 What is the role of a router in a network?

Connects devices within a local network

Connects different networks together

Prints documents

Provides electricity to devices

Q.No: 102 What is the full form of DoS?

Denial of Service

Difference of Services

Denial of System

Distribution of Services

Not Answered

Q.No: 103 Which command brings you to the
first slide in your presentation?

Ctrl + End Ctrl + End

Page up

Next slide button

Ctrl + Home Ctrl + Home

Q.No: 104 A personal computer attached to a network is
known as?

Source

Testing

Workstation

Coding

Q.No: 105 In SMTP, What does S stand for?

Severe

Single

Server

Simple

Not Answered

Q.No: 106 An operating system is a/an ________ .

application software

accounting software

system software

utility software

Q.No: 107 Why is a firewall used in networking?

To print documents

To speed up internet connection

To connect devices wirelessly

To protect against unauthorized access

Q.No: 108 When a file
contains instruction
that can be carried
out by the
computer, it is
often called a(n)
_______ file.

information

application

executable

data

Not Answered

Q.No: 109 Which of the following is NOT a programming
language?

Notepad

JavaScript

Python

C and C++

Q.No: 110 Which protocol is not an internet protocol?

FTP

TCP

HTTP

STP

Not Answered

Q.No: 111 Illegal copying and distribution of software
is known as ________ .

Cracking

Software piracy

Copying

Hacking

Q.No: 112 ________ is the
transmission of
data between two
or more
computers over
communication
links.

Networking

Communication

Data Communication

Data Networking

Not Answered

Q.No: 113 Identify among the
following which is mainly
used to host web site.

Hardware device

Database

Webserver

Mail server

Q.No: 114 Which is the shortcut key to hide
columns in Excel?

Ctrl+9

Ctrl+H

Ctrl+0

Ctrl+C

Not Answered

Q.No: 115 Which is not an example of email server?

Gmail.com

Cmail.com

Hotmail.com

Yahoo.com

Q.No: 116 Which of the following is not a kind of
application software?

Operating system

Database

Open source

Word processor

Q.No: 117 The first part of email address identifies
__________ .

name of bank

name of an individual user

name of the operator

name of the email server

Q.No: 118 Ctrl + z on the keyboard lead to what type of
action?



action?

Close

Redo

Undo

Save

Q.No: 119 What is the main function of a Hard Disk Drive?

Storage of data

To keep the system cool

To perform calculations automatically

To protect the system

Q.No: 120 In VIRUS, What does 'R' stand for?

References

Reservation

Resources

Regular

Q.No: 121 Which software is used to create
presentation?

Microsoft Word

Microsoft Access

Microsoft PowerPoint

Microsoft Excel

Q.No: 122 Which is not the requirement of internet?

DOS

Web browser

Modem

Operating system

Not Answered

Q.No: 123 Full form of HTML is:

Hyper Text Method Language

Hyper Text Markup Language

Hyper Test Markup level

Hyper Test Method Level

Q.No: 124 What kind of computer memory is both static
and non-volatile?

RAM

Cache Memory

DRAM

ROM

Q.No: 125 Which of the following is not a PowerPoint view?

Reading View

Outline View

Normal View

Presentation View

Section - VI (General Science)

Q.No: 126 The scientific name of Water hyacinth :

Mangifera indica

Oryza sativa

Pyrus malus

Eichhornia crassipes

Q.No: 127
Which of the following statement is true?

Angle of incidence is equal to angle of refraction

Angle of reflection is equal to angle of despersion

Angle of incidence equals angle of reflection

Angle of reflection is not equal to angle of despersion

Not Answered

Q.No: 128 Wings of a butterfly and the wings of
a bird are an example of ________.

Analogus

Homologus

Unique

Modified

Not Answered

Q.No: 129 Which of the following nutritional
relationships involves both
organisms benefiting?

Parasitism

Amensalism

Commensalism

Mutualism

Q.No: 130 Ozone can be destroyed by the following free
radical?

Nitrogen radical

Hydrogen radical

Iron radical

Chlorine radical

Not Answered

Q.No: 131 Which of the following pH
value is shown by Acids?

7 7

5 5

8 8

9 9

Q.No: 132 What does "c" represent in the equation given
below?

E=∆mc2

Speed of light

Charge of the nucleus

Atomic number

Mass of the nucleus

Q.No: 133 What is the concept of ICBN in taxonomy ?

Indian Code of Botanical nature

International Code of Botanical Nomenclature

International Code of Botanical nature

International Code of Biological Nomenclature

Q.No: 134 What happens to tooth
enamel when the mouth's pH
drops below 5.5?

tooth decay starts

It strengthens

It becomes more resistant to decay

It remains unchanged

Q.No: 135 _________ stores electrical energy in
an electrical circuit

Capacitor

Generator

Fuse

Battery

Not Answered

Q.No: 136 Which of the following components is NOT
found in blood?

Erythrocytes

Insulin

Leukocytes

Platelets

Q.No: 137 Among the options given,
which is the least reactive
metal.

Calcium

Sodium

Potassium

Gold

Q.No: 138 ________________ instrument
is used to measure blood
pressure.

Thermometer

Hemoglobinometer

Sphygmomanometer

Spirometer

Q.No: 139 Which one of the following shows the
correct relationship in terms of reactivity?

Not Answered

Q.No: 140
_________ is a rare radioactive gas?

Neon

Helium

Argon

Radon

Q.No: 141
In order to engage in recycling, we must

Retain our waste

Reclaim our waste

Dispose our waste without segregation

Segregate our waste

Q.No: 142 What type of mirror is
used in rear view
mirror in automobiles?

Concave mirror

Multifocal mirror

Bi - focal mirror

Convex mirror

Q.No: 143
Naja (Cobra) is an example of Class ______

Aves

Mammalia

Reptilia

Amphibia

Q.No: 144 Which of the following
actions is an effective
method for saving electricity
in residential households?

Running the dishwasher with only a few
items

Leaving lights on when leaving the
room

Using energy-efficient LED bulbs

Keeping electronics plugged in when
not in use

Not Answered

Q.No: 145 Name the oxide with a high
melting point that is soluble
in water.

silicon

iron

carbon

calcium

Q.No: 146
What is the role of a dynamo ?

It converts mechanical energy into electric energy

It converts mechanical energy into chemical energy

It converts solar energy into mechanical energy

It converts chemical energy into electric energy

Not Answered

Q.No: 147 Uptake of Nitrogen by the
Hibiscus plant is in the
form of

Carbon dioxide through gaseous
exchange from stomata of the plant

Potassium oxide through roots of the
plant

Sulfuric oxide through gaseous
exchange from stomata of the plant

inorganic nitrates or nitrites

Not Answered

Q.No: 148 Which of the following
hormones is NOT
directly produced by the
pituitary gland?

Oxytocin

Adrenalin

Growth hormone

Prolactin

Not Answered

Q.No: 149 What happens to the current-
carrying conductor when placed in a
magnetic field?

It experiences repulsion

It attracts

It experiences force

It experiences power fluctuation

Not Answered

Q.No: 150 How does the zygote, or
fertilized egg, receive
nourishment while it grows
inside the mother's body?

Direct absorption from the uterus
lining

Nutrient supply from the cervix

Blood circulation in the fallopian tube

Through the placenta


